LCC for Guitar — Construction of the Lydian Scale

The Lydian Chromatic Concept is based in the iddRythagoras taking strings and
stretching them and finding ratios that createrwaks. He found out that the strongest
interval was the interval of the fifth. By stacgififths, he generated a series of 12 fifths,
which formed the early basis of a lot of harmorgnira time period of the Roman era,
before the Roman era in his time, up until abo@0l1Stacking fifths became the
strongest way to build chords, and a lot of théye@reek modes are based on the idea of
fifths being the predominant interval when you ktelsords. So Lydian harmony is
based on stacking fifths, and you stack 12 fifthd @hat you get is a series of notes that
produces a sharped 11th out of the scale. Thgpethd 1th is also the sharped 4, which
is in the Lydian mode. So the Lydian mode has B, 8harped 4, 5, 6, 7, and 1. And
that's the basis that George Russell has useddatirng the Lydian Chromatic Concept.

When you stack notes out of the Lydian scale, yatt with the first note (the 1) and
then you add a note on top of it from the scalke Most common way to create
harmony is to stack the third note of the scaléopnof the first note, which is called
tertiary harmony. (That's tertiary, T-E-R-T-I-A-R) So tertiary harmony is built by
taking a scale and stacking every other note irstlaée. You're skipping one note every
time. So you get a scale with stacks of notesclwhre called intervals. So taking the
scale, you stack the 1 and the 3 and then, if youento the next note of the scale, you're
on the second note of the scale, so you'd be sigek®, you'd skip the 3, and then you
would add the 4 on top. In this case, the 4 whad sharp 4. So your interval stack for
the first note would be 1 and 3, and your intestatk for the second note would be 2
and sharp 4. The third note, the stack would bed5, and the fourth note would be a
sharp 4 and 6. Stacking the intervals from thé fiote gives you a 5 and a 7, and
stacking the notes from the 7 would be giving yauand a 2. That's tertiary harmony in
thirds.

The next note above the first harmonic note thatwould stack — for example, if you
stack 1 and 3, if you were to skip one more notgtgad of going to the 4, you'd go to the
5,soyougo 1, 3,and 5. So if your scale gogg, 3, 4, 5, 6, 7, every other note would
be 1, 3, 5, and then 7. So in a scale, it ascandslescends one note at a time, 1, 2, 3, 4,
5, 6, 7 and the chords or intervals are basedamkisty every other note out of the scale.
So it would be 1, skip 2, 3, skip 4, 5, skip 6,50 that would be your chord based on the
first note of the scale, the 1 (which is also ahtlee tonic or the DO). So the 1 chord is
going to have the notes 1, 3, and 5 in it and if yee a four-note chord, it's going to be
1,3,5 and 7. (See example No. 3.4.)

So we have a chord based on 1, 3, and 5 basee ¢artic, the 1, the DO; 1, 3, and 5.
That's going to be our tonic chord in any scalsing a Lydian mode, the notes are going
to be 1, 3, and 5. The second note of the Lydiatess note No. 2, so the chord is going
to be stacked with 2, sharp 4, and 6. The thiatc¢ls going to be starting on 3 and it's
going to be 3, 5, and 7. And your 4 chord, whigh sharp 4, is going to be sharp 4, 6,
and 1, and then note 5 is going to be — your 5ctigoing to be 5, 7, and 2 (5, 7, and
2). Your 6 chord is going to be starting on th&er®and is going to give you 6, 1, and 3,



and your 7 chord is going to start on the noted@ @giwe you 7, 2, and sharp 4. So those
are the three notes to make triads using the Lysttate. So you have a 1 chord, a 2
chord, a 3 chord, and we call it a 4 chord butéaly a sharp 4 chord, a 5 chord, a 6
chord, a 7 chord, and back to your 1 chord. Softirens the basis of the harmonic
structure of chords derived out of the Lydian scale

Now, if you were to take the triads and add oneemmate to the triad, making it a four-
note chord, your first chord would be the tonicrehahe 1, 3, 5, and 7, which would give
you a major 7th chord. The second chord would goea 2, sharp 4, 6, and then 1. So
that would give you a dominant 7th chord startingtte second note of the scale. So in
the Lydian mode, your 1 chord is a major 7 and yahord is a dominant 7. Okay? So
that is a major difference between the major saatéLydian scales, that your 2 chord in
the Lydian mode is a dominant 7, whereas your 2cchoa major key is a minor 7.

So everything changes when you think of thingheltydian way. If you're playing
against a series of dominant 7th chords, your panejor scale is going to be the 1,
right? So if you're playing off of a G7th chordwhole step — you know that G is going
to be an F — so you're going to be playing an Ratydote over a G7. Or, if you're
playing a blues, you play an A7th chord, you'rengdb be playing — a whole step below
that would be a G Lydian mode or G Lydian scal@ugo to your next chord in the
blues, a D7 or a D9, you're going to drop down ale/istep and play a C Lydian mode.
And then for your third chord in the blues, goingoe an E7. You're going to drop down
a whole step and you're going to be playing a Didtyanode. So in a blues sense, A7,
D7, E7 chords, you'd play a G Lydian, a C Lydiamd a D Lydian mode.

Now, the next step above that would be to harmathieeentire scale utilizing four-note
chords. As you will see, this way of looking antls changes the perspective on
harmony quite a bit, and then we can add othersrtotéhe Lydian scale or modify notes
on the Lydian scale to take the harmony furtheryafn@m a tonal center to an outbound
tonal center. This is how all the crazy jazz caace explained that have been used in
the past 50 years. They're moving away from tophly modifying a tonal scale. The
Lydian Chromatic Concept uses the Lydian mode el tydian scale as its source, so
everything is based on the Lydian scale rather thamajor scale. So you're looking at
things from a different angle, different perspeetiEverything's in the Lydian universe
rather than the major universe. The major scateines a mode of the Lydian scale. It
becomes the lonian mode, and that's originally iavas thought of back in the days of
Pythagoras, was that you had the Lydian mode wastgoic mode, was your main
mode was the Lydian mode because you get thatesthdith by a series of sequentially
stacked fifths that give you fifths stacked.

If you start on the note C, a fifth above that'sn\gdo be G, a fifth above G is going to be
D, right? So you go C, G, a fifth above G is gdiadpe D, a fifth above D is going to be
A, afifth above A is going to be E, a fifth abokas going to be B, and then a fifth above
B is going to be F sharp. There itis. Boom, &ph A fifth above F sharp is going to be
C sharp, a fifth above C sharp is going to be Gshand then so forth and so on. You
keep going, a fifth above G sharp is going to b&hBrp, a fifth above D sharp is going to



be A sharp (or B flat), a fifth above B flat is ggito be what? B flat, D, F. A fifth
above F is going to be C, so you're back to C agdmyou have all 12 chromatic notes
contained within the stack of fifths, and that ch@ — it's a 12-note chord.

Many people have different names for it. | likectdl it the omni chord. It's a stack of
fifths. The stack is going to be C, G, D, A, E,Bsharp, C sharp, G sharp, D sharp, B
flat, F, C. So that's going to be the omni chaBkorge Russell called it a chord mode
and he has modified the omni chord to include haiesthat are reflective of the latter
part of the 20th Century. This is where everybgdis tripped up with the Lydian
Chromatic Concept because the Pythagorean omnd dooicept and the Lydian
Chromatic Concept start off being identical, bub@e Russell takes the fifth
harmonically correct note and skips the 7th — kegdhe 7th and he skips it, and then he
starts over again because he wants to include atgharmonies that are based on
Western 20th Century music, and you really canthdd with the omni chord because it's
such a consonant stack that it doesn't allow fgradierations. So George Russell's
concept takes that consonant stack and allowdtgnations to occur, and that is the basis
of the Lydian Chromatic Concept. This is how ifelis from the Pythagorean omni
chord concept.



